10 mx14 m
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5.8 m/d 50 mm 6 m
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1. TEEX, FiRES

4.0 m

1.5m

1.5m
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2. BT HREER

3. Rt K

1.1

1.1




1. THZE

1-1

p=mlV
p— kg/m?
m— kg
V— m?

1600 2200 kg/m?

2

1-2

3

P4 =7

Ps—— kg/m3
ms —— kg

pa

1-1

1-2




2. THEKE
w 1-3

=TT L 100% 1-3
m,
my — kg
my; —— 105 °C kg
5% 5% 30% 30%
25%
20%

3. TRUEEN

K
m/d
1.2
1.2

K/ m/d K/ m/d
<0.1 20 25
0.1 0.5 35 50
0.5 1.0 50 75
1.5 5.0 50 100
10 15 100 200

4. THIETAME
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1-4
A
"
Ki——
K—
Vi— m?
Vz l’Il3
V3i——o m?
1.3
1.3
Ks
1.08 1.17 1.01 1.03
1.14 1.24 1.02 1.05
1.24 1.30 1.04 1.07
1.26 1.45 1.06 1.20
1.30 1.50 1.10 1.30
1.45 1.50 1.28 1.30
1.4
1.4
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1-1
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